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Problem quickname: 9443

1
Fill in the missing numbers.

a) 22 + 478 = 500 b) 28 + 572 = 600
d) 28 + 872 = 900 e) 71 + 629 = 700
g) 32 + 168 = 200 h) 53 + 247 = 300
i) 59 + 441 = 500

2)
Fill in the missing numbers.

a) 576 + 4424 = 5000
d) 724 + 5276 = 6000
g) 913 + 7087 = 8000
j) 537 + 7463 = 8000

b) 564 + 4436 = 5000
e) 752 + 1248 = 2000
h) 613 + 4387 = 5000
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c) 35 4+ 165 = 200
f) 21 + 879 = 900
i) 62 4+ 338 = 400

¢) 446 + 6554 = 7000
f) 572 + 5428 = 6000
i) 719 + 2281 = 3000
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3)

Fill in the missing numbers.

a) 9+ 21 =30 b) 5425 = 30 c)8+12 =20 d)5+65=70
e)3+7=10 f) 4+ 56 = 60 g) 3+47 =50 h) 6 + 34 = 40
i) 7+ 43 =50 j)2+88 =90

4)

Fill in the missing numbers.

a) 400 + 8600 = 9000
d) 200 + 5800 = 6000
g) 700 + 2300 = 3000
i) 200 -+ 1800 = 2000

Good Luck!

b) 700 4+ 300 = 1000
e) 300 4+ 4700 = 5000
h) 500 + 3500 = 4000
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c) 500 + 4500 = 5000
f) 300 4 7700 = 8000
i) 300 + 6700 = 7000
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